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Number of Questions : 20
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Section Marks : 80
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 70819113938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819146241.

70819146242, 2

70819146243.

70819146244, =

Question Number : 1 Question Id : 70819113938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4
EmmjbﬂmmW%
-4

Options :

70819146241.

70819146242.
70819146243.

70819146244, =

Question Number : 2 Question Id : 70819113939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is e The sum of the cubes of its terms is :

Options :
31
13
70819146245.
108

70819146246, 1°

M| 3

70819146247.

e
70819146248, 7



Question Number : 2 Question Id : 70819113939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

it O ey = 2 ) b Y 0 ) 9 3 = = Y ey )
T U mmmwmwﬁwmwmaﬁhﬂw;%’,mmua%wmam
g

Options:
31
13
70819146245.
108

70819146246, 1°

M|E:‘;

70819146247.

e
70819146248, 7

Question Number : 3 Question Id : 70819113940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options:

70819146249, F =P V4

70819146250, (P79 =P

70819146251, P PV a) v (~9q)



20819146252, (P ¥ "P)~ (v (~q))

Question Number : 3 Question Id : 70819113940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fore A FW e S TR § 7
Options:

70819146249, F =P ¥4

70819146250, (P9 =P

70819146251, P PV @) v (~9)

70819146252, P ¥ "P) A (q v (=)

Question Number : 4 Question Id : 70819113941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i O Ml
Let |a| <1, [bl<1, |c|<1 and x= l A = l b" z= l e I o l_; 7 are in Arithmetic

n=( n=() n=(

Progression, then :
Options :

70819146253, & b and c are in Arithmetic Progression

70819146254 a, b and c are in Geometric Progression

70819146255, & 2b and c are in Arithmetic Progression

5 e o
20819146256. a, b and c satisfy 2b-=ac



Question Number : 4 Question Id : 70819113941 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. il % ® l 1 1 . I
WM a<1, [b<1, [<1qMx= Y a", y= Y b"3z=Y " ¥ e Y 7 T g T,

n={ n={ n=(
e
Options :
70819146253, & DA c THHIT 41 H &

70819146254, & b T ¢ TR 4@l H ©

20819146255, & 2b Tl ¢ FHIT 42t F &

' ¥ 2= :‘ - - n el
20819146256, & P TN ¢, 2b"=ac Pl YT FW 3

Question Number : 5 Question Id : 70819113942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M +7n+5

i

is equal to :
n=1

n!
Options:

70819146257, 19e+5

70819146258, 19¢—5

70819146259, 16e—>



70819146260, 16€—7

Question Number : 5 Question Id : 70819113942 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
,; n% +7n+5 )
LH____:;r___'EHF$(%:

n=

Options :

70819146257, 19e+5

70819146258, 19¢—5

70819146259, 16e—2

! |

70819146260, 16€-

Question Number : 6 Question Id : 70819113943 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 10°0+ (3% (4)°2)+ A is divisible by 9 is :
Options :

70819146261, 2

(o5

70819146262.

|

70819146263.

(=1

70819146264.



Question Number : 6 Question Id : 70819113943 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 1 =Ty o qories o, e fod 10504 (3 (4)52)+ ), 9 A fawyra 7, %
Options :

70819146261, 2

[F5)

70819146262.

! |

70819146263.

70819146264, 1

Question Number : 7 Question Id : 70819113944 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819146265, 455

70819146266. *21

70819146267, 435

70819146268, **1

Question Number : 7 Question Id : 70819113944 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 THRR 9o FHAC T W 4, 5906 fag F 1 AfE wR m 3u wfvs fagd = #E o T
U I H T & A e i oft w, S fafe et w fera ¥, g w6 @ A T A
T, W 9 A el ¥ A 9 € 2

Options:

70819146265, 435
70819146266, 421

70819146267, 435

70819146268, **1

Question Number : 8 Question Id : 70819113945 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) ar—b ) )
Ify= —_1) has an extremum at the point (2, —1), then the values of aand b are:

(x—=1)(x
Options :

70819146269, =1, b=0
70819146270, 2=0 b=1

70819146271, a=0, b=-1

70819146272.

Question Number : 8 Question Id : 70819113945 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e arx ]'_‘! ~ ) “ L‘
aq= y ={I 1) (x— 4) FUF I A (2, —1) WE, TaddbFAAE :
Options :
70819146269, =1, b=0
70819146270, 2= 0 b=1
70819146271, 2=0, b=~1
70819146272, 2= ~ 1 b=1

Question Number : 9 Question Id : 70819113946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Thedﬁﬁnaﬂxﬂ#&mthephnm;?-{2}Ij 2}’|5=0 mwl?-lﬁlej 6%JI2=Dis:

Options :
5
70819146273, 19
15

70819146274, 4

70819146275. ¢

70819146276.



Question Number : 9 Question Id : 70819113946 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aqwa - |27 +7-2k)+5=0 @ ¢ (6i+3]-6k|+2=0F AT AT

Options :

70819146273. 19
70819146274, 4

70819146275. ¢

70819146276.

Question Number : 10 Question Id : 70819113947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
4

The probability of solving a problem in Mathematics by two students X and Y are 1 and 5

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :

70819146277. 20

70819146278.

70819146279, 2V



b

70819146280. 2V

Question Number : 10 Question Id : 70819113947 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L Tkt by . n = _n l l ) oY
ahmmmxamYﬁﬂmm$q$wﬂmnﬁamﬁﬂmﬁ$m$mnEamg%|ammﬂaﬂmﬁ
F) 69 Y U 76 F F 99 T &, 0 30 T F I 4 31F UF F 50 2 oF F e ©

Options :

70819146277. 20

70819146278.

70819146279, 2V

12

70819146280. 2V

Question Number : 11 Question Id : 70819113948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

REr is oqual Lo :

The polar form of the cnmplex number
1—i

Options :

—_ —_

cos — +1i sin—
9 9
70819146281. e =



—_ —_

Cos ——1sin—
2 2

70819146282. = <
cns'—T F i .'?»inE

70819146283,  * '
cos L [ .'aini

70819146284. ' '

Question Number : 11 Question Id : 70819113948 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gfmg dem L w1y we
1—1

Options:
cosi I z':;ini
2 2
70819146281. e %
cos % { sin%‘
70819146282. = m
cns'—T I fsini
70819146283. ' '
cos 1 i !ain.i
70819146284. ' ;

Question Number : 12 Question Id : 70819113949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

]

70819146285.

70819146286. -

e

70819146287.

==

70819146288.

Question Number : 12 Question Id : 70819113949 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ife 39 1@ 1 FHE, 5 g (1, 0) 790 (3, 0) F HaH 9wl W i 2: 1% S ° Fedl
991 70 W oEd o €, ar=7 8, W a W AH TR E :

Options :

I

70819146285.

70819146286. -

70819146287.

70819146288, 1

Question Number : 13 Question Id : 70819113950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2x=0 with respect to
the line x+y=2, is :



Options :
70819146289, X ty¥7—2x+4y+3=0

70819146200, ¥ F ¥ —4x =2y +4=0

ST P R S
70819146291, 2~ +y7) —x+y+1=0

S g B iy il
70819146292, ¥ T¥ x4y +3=0

Question Number : 13 Question Id : 70819113950 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T, x-+-y=2§n"T‘HTEIE%T, 91, 13+f—h=n%a¢muﬁfam@mﬁm%:
Options :

70819146289, ¥ Ty - 2x+dy +3=0

-

2+ P —4x—2y+4=0

70819146290.

3] e ST I R TN
70819146291, 2" ty) —x+y+1=0

-2 s e
70819146292, ¥ T¥ ~2x—4y+3=0

Question Number : 14 Question Id : 70819113951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{;lf 1 )2

=1 and the circle

Equations of the common tangent of the ellipse

(x+1)2+(y—1)>=4 are :



Options :

70819146293, ¥+3=0 and x=1=0

70819146294, ¥ —3=0 and y+1=0

70819146295, ¥ +3=0 and x—1=0

y-+-3=[] and y—1 =
70819146296,

Question Number : 14 Question Id : 70819113951 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
n e {1‘ | 1)2 (lj' .l )2 N X 7 Ban r . o o n S
TEIT ——— =1 T, (x+1)2+ (y— 1)? =4 F AT T3 @A & FHF 2 |

- 3

Options :

20819146293, Y 13=0 TMx—1=0

70819146294, ¥~ 3=0 @My +1=0

70819146295, ¥ +3=0 T x~1=0

y+3=0 TAMy—1=0
70819146296.

Question Number : 15 Question Id : 70819113952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_. 1 a
If A= [” J , then Ak (keN) is :

Options :



70819146297.

70819146298.

70819146299.

1 ka
0 0
70819146300.

Question Number : 15 Question Id : 70819113952 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- . ]. r.-‘! 5 = i 5
7fg .-1=[” J &, 1 AK(ke N) =R T :

Options :

70819146297.

70819146298.

k ka
0 k.

70819146299.

1 ka
0 0
70819146300.



Question Number : 16 Question Id : 70819113953 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + .1'3 =5
Xy +2x,+3x,=9
xy+3x;+sx3=t

has no solution, are :

Options :

70819146301, =2, t=13

70819146302, S5

70819146303. °

70819146304.

Question Number : 16 Question Id : 70819113953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
s 91 t % o |H, T fou e e
X+, 13=5
.1-1 1+ 2.1'2'1" q‘.l; e g
Xy +3x, +sx,=t
1 1S B e 8, &
Options :

70819146301, S=2, t=13

70819146302, S# 2

70819146303, 5= 1= 13



70819146304, 1 * 13

Question Number : 17 Question Id : 70819113954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. b 4 1 2x ) 3 | i 1 ( 2x )
Derivative of tan ‘ 5 | with respect to sin 5 | in (1, ), is:
k.] . k_1 | _l"',J
Options :
70819146305,

70819146306, ~ !

70819146307.

2

70819146308.

Question Number : 17 Question Id : 70819113954 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s . 1 f 2_}_' A . 5 1 ( 2.1' \ - - -
=0 (1, =) H, tan ‘ j‘?ﬁlp Sin ‘ 5 ‘%W&-’fw%:
([ 1—x" SRE Ny
Options:
70819146305. :

70819146306, ~ !

70819146307, °



2
70819146308. ~

Question Number : 18 Question Id : 70819113955 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘C‘ )
=T=1. If axlaxc/+b=0,then

T N —. ¥ —_ — —_ =

—5 —5
Let a, b and ¢ be three vectors such that ‘a‘:

b

—

o
the acute angle between a and ¢ is:
Options :

am

&)

708191463009.

NE

70819146310.

o
q

70819146311.

5w
12
70819146312.

Question Number : 18 Question Id : 70819113955 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= ‘_:1‘§| TR 2> |§€J|

C
7 \

_;‘

*::[]%J_f‘ﬂ

T a4, b T ¢ ﬁmmé,mm\aLb
g a q91 ¢ & " FFHWE

Options :



NP

708191463009.

NE

70819146310.

m
3

70819146311.

s
12
70819146312.

Question Number : 19 Question Id : 70819113956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Solution of the differential equation (1 +y*)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)
Options :

) -1 tan 'y
70819146313, ¥~ 1 tan ‘ytce

1

y=tan "y—1+ ce tan x

70819146314.

- -1 —tan '13.;
70819146315, X wan 'y ltce

70819146316.

Question Number : 19 Question Id : 70819113956 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HIFHe THF (1+y2)dx=(tan "y —x)dy F1 & T :
(SEF ¢ TF =3 TN )

Options :

. -1 —t:u‘l"l:.,r
70819146313, ¥~ 1 tan ytce

P, 1 3 tan Lx
70819146314, Y=tAn Y- 1t ce

. -1 --tin_'lj.l.r
70819146315, ¥ tan y-ltce

70819146316.

Question Number : 20 Question Id : 70819113957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y ) ; — .z:l .z.:_ ' .
The values of x, for which the vectors a = (x>~16)i+4 j— (x*~25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :

70819146317, 17> —4 < 4. 5]

70819146318, =24 v (=4 5]

70819146319, (7> ~4) Y & 9)

70819146320, (>4 (—49)

Question Number : 20 Question Id : 70819113957 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



35, o om0 e @ = 2 16)i 44 ~(c2 - 25)k Tk ol A s e 3 e
T 9 €, e # e fem ¥

Options :
70819146317, L2 4w &3]

70819146318, 724w (=4 3]

70819146319, (72 ~4) (4, 5)

(=5, 4 v(—4 D5

70819146320.

Mathematics Section B
Section Id : 708191493
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191773
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819113958 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

v (14 cos2y )
_[l— dx is
}E'I -

(



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819113958 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

™ 11+ cos?x
J‘ﬁ& dxy =T
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819113959 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 22 Question Id : 70819113959 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Otan0+4cot M FAGI HAE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819113960 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; ; A ; _'xlﬁ_y? - i
The length of the perpendicular from the point (1, 2, 3) to the line B T is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819113960 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

xlﬁ_y F’_z 7
3 2 2

fag (1,2 3) 9@ WA T oE H s E |



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819113961 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

| are in Arithmetic Progression, then the value of x is

' /
If log 2, log, (2*~5) and logs| 2*
' ' N\ /

3 | =1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819113961 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

| i HEHE My

i
Afelog,2, logy(2*—5) T logs| 2*
3% 10§; _\ !

3| ~1

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 25 Question Id : 70819113962 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
. ! 13\E  f VR
If x24+x+1=0, then Jh i| I|x2
x

\

Response Type : Numeric

1
<) U 2))
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819113962 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2 g . sl
‘ | x® L, |
2\ x°)

e 2 +x+1=07%, J.[|fx i|2 | 'rxz
X/

st
2
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819113963 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



x2+y?—4x—2y~11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819113963 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i

fag (4, 5) 9 T9 22+ y? —da— 2y — 11 =0 R Wil T5 =49 @, 31 Bnsdl & 919 U =9q4s i
F| W IS F o, A, e |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819113964 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to ____

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819113964 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Ife T 598 927 & WA T FE AN 15 7 S S a0 F1 AR 117 8, O WoF AqwEn

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819113965 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, de Z with ged (|a|, |b, |c|)=1,
then |atb+c+d|isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819113965 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

T U T, S T (1, 2, 6) T41(2, 5,7) W A T € a9 FHA, dx -y +2 =15 F T
%' H THH ax’rhy-i-cz-i-d:[]%l g a, b, c, deZ a4l gcd ([al, |b|, c]:l?:, M la+b+c+d
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819113966 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of real solutions in the interval [ -‘ of the equation 4sin®xy — 8sinx+3=0

15 _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819113966 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. Im 7
Wﬁ[ TT-‘HW-HLI‘I‘JL 8 siny +3=0% IdTaF ol B g T

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819113967 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1.1 _10
o za and

Let Al, Az, Aa, ....... be an increasing geometric progression. If T4 b B
AA,=44], then 3(A, +A,) is equal to

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819113967 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T B B U ..
A Agy Ay...... T A TR A 1 3 | Ay 3 TMAA=MIT TIA+A)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Aptitude Test

SectionId: 708191494
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191774
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819113968 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which among the following is the full form of the "UNESCO’ ?
Options :
70819146331, United Nations Educational, Scientific & Cultural Organization.

70819146332, United Nations Educational Sc-curit}-' Cultural Drgani_zatinn.

70819146333, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819146334.

Question Number : 31 Question Id : 70819113968 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=1 H | “UNESCO’ %1 qui ®9 (Full form) &9 |1 & ?
Options:

20819146331, FTEICE TOH TSHIA, HISAEIFF T Featd ATHESI
20819146332, FTEICE T9H TgHIAA Foafie] Foatd ATHIEH

70819146333, TTEICE 9 TETH W5 HfeiT ARG

70819146334, TTE(EE TUE USHITA, TEATS T FHoatdl SATHIESEH

Question Number : 32 Question Id : 70819113969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819146335, D), (ID-(a), {D-(d), (IV)-(d)

20819146336, D-(9), (ID-(d), (D-(a), (IV)-(b)

20819146337, 0-@). (ID-(b), (ID)-(c), (IV)-(d)



20819146338, OBy (Ha), (<), EV)H{d)

Question Number : 32 Question Id : 70819113969 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 =i 1 =1 g=i 11 H s |

T 1
(I) e 3AF %A (a)
(I) e =ie, AreaT= (b)
(I 92HmE (©)

(IV) Hf==EmE (d)




Options :
70819146335, (-(b), (ID-(a), (ID)~(d), (IV)-(c)

70819146336 (D-(c), (ID)-(d), (II)-(a), (IV)-(b)

70819146337, (D-(@), (ID)-(b), ([D-(c), (IV)-(d)

70819146338, P (1D-(@). (A-(c). IV)-(d)

Question Number : 33 Question Id : 70819113970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
() Kamru (a) Victoria Memorial Hall
(IT) Delhi (b) Badrinath Temple
(IIT) Fatehpur Sikri (c)  Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

Options :
20819146339, DB, (I-©), (-, (IV)-(a)

70819146340, (D-(b), (ID-(d), (TM)-(c), (IV)-(a)
20819146341, V-, ()-(@), (I)-(b), (V)-(d)

20819146342, V- (B) (-(@), AI(d), (IV)-(c)

Question Number : 33 Question Id : 70819113970 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
=1 9= 1 =1 9= 11 9 e |

T 1 = 11
I =mEE (a) Toeifian safaa e
(I fewed (b) =Y i
(II) FeRqE HiH (c) Taz+l wfEg
(IV) HicTahran (d) T AT
Options :

70819146339, W(B) (I)-(), (II)-(d), (TV)-(a)

70819146340, (D-(b), (ID)-(d), (I)-(c), (IV)-(a)

70819146341, 09 (D-@), AD-b), [V)-(d)

70819146342, (D-(b), (ID)-(a), (LD)-(d), (IV)-(c)

Question Number : 34 Question Id : 70819113971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819146343, Db}, (ID-(c), (ID)-(a), (IV)-(d)

20819146344, (D-(@), (ID-(b), [-(c), (IV)-(d)

70819146345, V-9 (@), (D-(d), AV)-(b)

70819146346, V) (ID-@), [I~(c), IV)-(d)



Question Number : 34 Question Id : 70819113971 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e |t 1 =1 | 1 fersd |
e 1

(I) & = faen (a)

(IT)  #A=Ten Afsg (b)

(IIN) et favafame (c)

(IV) <=1 A=Y (d)

Options :

70819146343, (0-b). (ID-(), (I)-(a), (IV)-(d)

20819146344, D-@), (1ID-(b), (I)-(c), (IV)-(d)



70819146345, 19 (D-(a), (I1D-(d), (IV)-(b)

20819146346, V(b), (I)-@), (I)-(c), AV)-(d)

Question Number : 35 Question Id : 70819113972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - I1.

List - 1 List - 11
()  Yadvindra Garden (a) Manali
(IT)  Vishnu Temple (b) Amritsar
(ITII) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar
Options :

20819146347, (D), (1), (ID-(b), (IV)-(a)

70819146348, (D-(c) (I)-(d), (I)-(a), (IV)-(b)

20819146349, D), (ID-(b), (LD-(c), IV)-(a)

20819146350, (D-(b), (ID-(d), ([)~(a), (IV)-(c)

Question Number : 35 Question Id : 70819113972 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T Gt 1 1 g 19 ey |

T 1 = 11
() F=fEs = (a) TR
(1) femy Af=R (b) AHTE
(1) fefewn =it (c) T
(Iv) sRAf< (d) TR
Options :

20819146347, D), ()-(d), (IID)-(b), (IV)-(a)

70819146348, (D-(¢), (I)-(d), (ID)-(a), (IV)-(b)

20819146349, (D). (ID-(b), (I-(c), (IV)-(a)

70819146350, (D-(P), (I)-(d), ()-(a), (IV)-(c)

Question Number : 36 Question Id : 70819113973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options:

20819146351, (D), ()-(d), (ID)-(b), (IV)-(c)

20819146352, (D-(d), (I)-(c), (ID)-(a), (IV)-(b)

70819146353, (D), (ID-(c), AID)-(b), (IV)-(a)



20819146354, 0@ (D-(b), (D-(d), (IV)-(c)

Question Number : 36 Question Id : 70819113973 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e AT 1 R g 1 A e

T i 11
() HeTe e (@) FER
() i e (b) FrEE
(II) Tieihiel faen () faecht
(IV) i faferm d) SR
Options :

20819146351, (D-(@), (D-(d), (TID)-(b), (IV)-(c)

70819146352, (D-(d), (ID-(c), (D)-(a), (TV)-(b)

20819146353, (0D, (ID-(), AID-(b), IV)-(a)

70819146354, (D-(a), (I)}-(b), (TID)-(d), (TV)-(c)

Question Number : 37 Question Id : 70819113974 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options :

70819146355, B-V. Doshi

70819146356. Arundhati Roy



20819146357, Revati Kamat

70819146358. Bimal Patel

Question Number : 37 Question Id : 70819113974 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Tife S e foia ' T @ e R argiedt 3 fowa €7
Options :

70819146355, .= <

70819146356, AEHAl T4

70819146357, H0l HTH¢

70819146358. l s

Question Number : 38 Question Id : 70819113975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819146359, ujarat

70819146360, 'Vest Bengal

70819146361, 1amil Nadu



70819146362, ajasthan

Question Number : 38 Question Id : 70819113975 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘g figest =1 U R, e § O s feg a8 aren s g ?
Options :

70819146359, 170

70819146360, T =TI

70819146361. =

70819146362, TS

Question Number : 39 Question Id : 70819113976 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction ?
Options :

70819146364. South-East side

70819146365, orth side

70819146366. South-West side



Question Number : 39 Question Id : 70819113976 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
I STHETEIT H WA e fy faen 3§ waw w72
Options :

70819146363, 0% We=H fem

70819146364, STEU-T4 faum

70819146365, ST fasl

70819146366, SrAT-T¥=H fawm

Question Number : 40 Question Id : 70819113977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following building represents the colonial Architectural pattern in India ?
Options :

20819146367 Bharat Bhavan in Bhopal

70819146368. LIC Building in Delhi

70819146369. Charminar in Hyderabad

1 1 ! 3 - s e . :
70819146370. Victoria Memorial in Kolkata

Question Number : 40 Question Id : 70819113977 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e F I F g9, wRd §  SAfrEees ang’ dedt @ guid €2
Options :
70819146367, STl =1 YRA Ha1

70819146368, Iaeall @ LIC FARA

70819146369, ©oEIE 1 IRHAR

70819146370, Frererdl &l IEEREE IR CI P

Question Number : 41 Question Id : 70819113978 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of A2 Drawing sheet ?

Options :

70819146371, 1207590 (mm x mm)

70819146372, 207594 (mm > mm)

70819146373, 297 %420 (mm > mm)

70819146374, 207392 (mmxmm)

Question Number : 41 Question Id : 70819113978 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A2 ZTET YiE H SER E :

Options:



70819146371, $20>¢590 (mm> mm)

70819146372, 207594 (mm><mm)

70819146373, 207 x 420 {1‘1‘11‘1‘1 M 111111]

70819146374, 120592 (mm> mm)

Question Number : 42 Question Id : 70819113979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :

70819146375. Chittor fort

20819146376, Jaigarh fort

70819146377. Bhangarh fort

70819146378, ‘+mer fort

Question Number : 42 Question Id : 70819113979 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oty 2o’ e 6 A b WIS A e &2
Options:

70819146375, T2 HIE



70819146376, AT HIE

70819146377, T1E I

70819146378, HAFN FIE

Question Number : 43 Question Id : 70819113980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819146379, Samjay Puri

70819146380, Vikram Lall

70819146381, ‘shok Lall

70819146382, = SOmpura

Question Number : 43 Question Id : 70819113980 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gufag Af<t ‘ eram’ #t wvwa = | 9 fim angfoed 3 796 ?
Options :

70819146379, o9 T

70819146380, 954 e



70819146381, “T3N et

70819146382, - HIHI

Question Number : 44 Question Id : 70819113981 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819146383, Charles Correa

70819146384, Richard Mier

70819146385. Jasbir Sachdev

70819146386, Ranjit Sabliki

Question Number : 44 Question Id : 70819113981 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘aegy W getEs e 6 9 e Aot uT et @2
Options :
70819146383. = i

70819146384, TT9= HA
70819146385, SHAR Had

70819146386, 1Sid Heeil=hi



Question Number : 45 Question Id : 70819113982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate cha_nge
70819146387.

70819146388, “i0Pal warming

708191463809. Sustainable development

70819146390, Smart city

Question Number : 45 Question Id : 70819113982 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=y ‘werer- 21 e H F form § Hafea g7
Options:

70819146387, ST191] e

70819146388, 14 =1

70819146389, TRV =M™

70819146390, e 142



Question Number : 46 Question Id : 70819113983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options :

70819146391 Karnataka

70819146392, Orissa

70819146393, Maharashtra

70819146394, Uttar Pradesh

Question Number : 46 Question Id : 70819113983 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
frAddya s fFaga i an i am g7
Options :

70819146391, FiH
70819146392, HATETM
70819146393, TeRI=

70819146394, 0% A=

Question Number : 47 Question Id : 70819113984 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819146395, North

70819146396, >0uth

70819146397, Cast

70819146398, Vest

Question Number : 47 Question Id : 70819113984 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o TireTs § TeTs ed v T fawn & o g 2
Options :

70819146395, =1t

70819146396, SI&I

70819146397, 1

70819146398.

Question Number : 48 Question Id : 70819113985 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The first Indian Architect who has won Pritzker Prize in 2018 is :

Options:



i _
70819146399, B+V: Doshi

70819146400, Laurie Baker

70819146401, @i Rewal

70819146402, ‘*chyut Kanvinde

Question Number : 48 Question Id : 70819113985 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Teell YA arafeed, fam 2018 # firess g Sitan @
Options :

70819146399, .91 <=M

70819146400, T =L

70819146401, 1= 19T

= TS
70819146402.

Question Number : 49 Question Id : 70819113986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :

Options :

70819146403, Bengalurm



70819146404. Banaras

70819146405, bengal

70819146406, BT

Question Number : 49 Question Id : 70819113986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘=T’ (Bungalow) ¥1e %1 39T A H 4 R gen ?
Options :

70819146403, FTIH (Bengalurm)

70819146404, F11H (Banaras)

70819146405, 2 (Bengal)

70819146406, T (Bari)

Question Number : 50 Question Id : 70819113987 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?

Options :

70819146407, -aurie Baker

70819146408, Louis Kahn



70819146409, utyen

70819146410. Le Corbusier

Question Number : 50 Question Id : 70819113987 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=1 § 7 form Irgioedt 51 [IM STeHeiETe it B9l =T T8 2
Options :

70819146407. AR T

T

70819146408, & F11
70819146409, T3

70819146410, 1 FEISR

Question Number : 51 Question Id : 70819113988 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?

Options :

70819146411, 14

70819146412, 13



70819146413, 12

70819146414, 18

Question Number : 51 Question Id : 70819113988 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e & ¢ st §, il F e ¥

Options:

()

70819146411, 1%

3

=

70819146412.

5

(=1

70819146413.

()

70819146414, 18

Question Number : 52 Question Id : 70819113989 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options:
I ]
1 |
70819146415.
I
I
70819146416.
.
_I .-
| |
70819146417.
I | |
70819146418. ]

Question Number : 52 Question Id : 70819113989 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=1 3D arfa 1 =9 F forn, |l O afe v e 9 W ¥ WE v w6 g

Options:
I ]
1 |
70819146415.
I
I
70819146416.
.
J l—
| |
70819146417.

70819146418.



Question Number : 53 Question Id : 70819113990 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

- DE O
Options :

A
70819146419.

N
70819146420.

Il
70819146421.

70819146422.




Question Number : 53 Question Id : 70819113990 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e 1 TS WE ST U TG F FHI 594 B A ¢ | I A § 1, A fawn F v gu v

T & 9|

— D 0
Options :

A
70819146419.

N
70819146420.

I
70819146421.

70819146422.



Question Number : 54 Question Id : 70819113991 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer i’igures Iooking in the direction of arrow.

—
I

Options :
70819146423.

L
70819146424.

[ 1
70819146425.

70819146426.



Question Number : 54 Question Id : 70819113991 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 T ATl U 9 F S 9 B ¢ | R o § S gu, & T S it 6 4
Eeci| U\f_ﬁpa\ 1 (elevation) fﬁT%ﬂTﬁT{l

—
|

Options :
70819146423.

L
70819146424,

[ ]
70819146425.
70819146426.

Question Number : 55 Question Id : 70819113992 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

>

T

Options :

70819146427.

70819146428.

70819146429.

70819146430.

Question Number : 55 Question Id : 70819113992 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T S H T T F S 5vd 1 femmn ) A e § S gy, SW At |§ § w
UM (elevation) F1 TE=1Y |

=

T

Options :

70819146427.

70819146428.

70819146429.

70819146430.

Question Number : 56 Question Id : 70819113993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819146431. >
70819146432. D
70819146433. v
70819146434. ﬁ

Question Number : 56 Question Id : 70819113993 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
9 % 9w IW oot 36 oam Ao faon # weA fo=1 o fow gon €1 WE SW o 9|

Options :
70819146431. E

70819146432.



70819146433. ;
70819146434. ﬁ

Question Number : 57 Question Id : 70819113994 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819146435.

70819146437.

W
70819146436. Q
0
N

70819146438.



Question Number : 57 Question Id : 70819113994 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 & 4 u I oo < srm o fam 8 wed foa § fow gen ¥ wé swoH gFE

Options :

70819146435.

70819146437.

e
70819146436. Q
0
A

70819146438.

Question Number : 58 Question Id : 70819113995 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :

70819146439. :



70819146440. i
70819146441. :

70819146442, [>

Question Number : 58 Question Id : 70819113995 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 ¥ 9w T fost <t s e fawn & wea fo & fow gon @1 W@ Sw w1 gf )

\

Options :

70819146439.

70819146441.

N
norsrsuo. C

A

>

70819146442.

Question Number : 59 Question Id : 70819113996 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819146443. D
70819146444, D
70819146445. O
70819146446. ;

Question Number : 59 Question Id : 70819113996 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

et & 9 ush 3 ot ol e e fawn 9 e o 3 fow gon 1 @ s A 9 E |

Options :

70819146443. D

70819146444. D



70819146445. O

70819146446, #

Question Number : 60 Question Id : 70819113997 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

X
[
[]
X
Options:
[ ]
70819146447.
[]
[ ]

70819146448.



70819146449.

70819146450.

Question Number : 60 Question Id : 70819113997 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
W ATl H T FF W SAF < T G AFA FX-X F UG Tl gafa &7

X

[

[ 1]

Options :

70819146447.



H
]
70819146448,
[l
]
70819146449,
L]
[]
70819146450,

Question Number : 61 Question Id : 70819113998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

X X

Options :

70819146451.

D)
N

70819146452.

P,

Ao

70819146453.

0N
N2

70819146454.



Question Number : 61 Question Id : 70819113998 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
I AFTE H T HH W AFH S T 9T AF FX-X F A FE wffa &2

N
N\
AN
N/
(D)
téJ

0N
N2

70819146454,



Question Number : 62 Question Id : 70819113999 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819146455. /
N
NV
N\
70819146456. /
N
P
N/
70819146457. /[\

70819146458.



N4
AN

Question Number : 62 Question Id : 70819113999 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IR ATl | W i T SATHA G TE T ST HX-X F HIeT Tl qitferns g ?
/ X
NN

\
/
i

Options :

NN

70819146455.

P s g

70819146456.

70819146457.



70819146458.

Question Number : 63 Question Id : 70819114000 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

70819146459.

70819146460.

70819146461.



N
S

70819146462.

Question Number : 63 Question Id : 70819114000 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wﬂmﬁﬁﬁﬂﬁmﬁ?ﬁ?Hﬂﬁﬁﬁwmﬁmﬁﬁﬂfﬁq(sequence) T

S 7

Al

Options :

74
70819146459.
70819146460.

N2
S

70819146461.



70819146462.

Question Number : 64 Question Id : 70819114001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819146463.

70819146464.

70819146465.

70819146466.



Question Number : 64 Question Id : 70819114001 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3D ST H U 7 F UF 7 F femm g | i fam d e g, v o I At
4y |

/ﬂ

Options :

70819146463.

70819146464.

70819146465.

70819146466.



Question Number : 65 Question Id : 70819114002 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819146467.

70819146468.

70819146469.



70819146470.

Question Number : 65 Question Id : 70819114002 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D A ¥ T 76 F T 5% FI fe@mn T g1 dR 1 few H T gu, Wl 59 FI S AHfad
H ¥ |

\§

/

Options :

70819146467.

70819146468.



708191464609.

70819146470.

Question Number : 66 Question Id : 70819114003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819146471.

70819146472.

70819146473.

70819146474.



Question Number : 66 Question Id : 70819114003 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3D T H T T F U 39 F femm T ¥ A e T g, v T F W A
H Y @ |

3

7 NA

Options:

70819146471.

70819146472.

70819146473.



70819146474.

Question Number : 67 Question Id : 70819114004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/Z

Options :

70819146475.

70819146476.

70819146477.

70819146478.



Question Number : 67 Question Id : 70819114004 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3D AT ¥ U 5 F U 39 F1 e g | A S a6 ¥ g, v o 9 I g
H Y |

/ﬂ

Options :

70819146475.

70819146476.

70819146477.

70819146478.



Question Number : 68 Question Id : 70819114005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819146479.

70819146480.

70819146481.

70819146482.

Question Number : 68 Question Id : 70819114005 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
3D ST H U T % U 999 I @ T g | R S e # S gy, 9 9vd F1 S S
H 9 g |

/ﬂ

Options :

70819146479.

70819146480.

70819146481.

70819146482.

Question Number : 69 Question Id : 70819114006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819146483.

70819146484.

70819146485.

70819146486.

Question Number : 69 Question Id : 70819114006 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D T H U T U 2vF I fem T E | aR T e § S g, W gy P IW A
LERCEE

/

Options :

70819146483.

70819146484.

70819146485.

70819146486.

Question Number : 70 Question Id : 70819114007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819146487. '

70819146488.

708191464809.

70819146490.

Question Number : 70 Question Id : 70819114007 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D ST H U T F U v I fem@me T | AR T e # S g, Wel 5w S A

T Y YU |

/

Options :

70819146487. I

70819146488.

70819146489.

70819146490.

Question Number : 71 Question Id : 70819114008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819146491. —I

70819146492. l

70819146493.

70819146494.

Question Number : 71 Question Id : 70819114008 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D AT § U 7 % U @ ) femm T | v few 4 S gu, T 3 A I A
H 4 |

/l

Options :

70819146491. —I

70819146492. l

70819146493.

70819146494.

Question Number : 72 Question Id : 70819114009 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819146495.

L]
70819146496.
70819146497. I:l

L]

70819146498.

Question Number : 72 Question Id : 70819114009 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D A TF 9% F UF o P 0 T E | A R fowm H T g, W o F I A
% 4 = |

Options :

70819146495.
70819146496.
70819146497.

70819146498.



Question Number : 73 Question Id : 70819114010 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819146499. | |

|
70819146500. | I
70819146501. | l

||
70819146502. |

Question Number : 73 Question Id : 70819114010 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
3D ST § U 9 F U 599 F1 SO | AR e § e gu, v 59 S At
H 4 wEE |

Options :

|
70819146499. | |

l

70819146500. | I
70819146501. | l

||
70819146502. |

Question Number : 74 Question Id : 70819114011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819146503.

70819146504.

70819146505.

70819146506.

Question Number : 74 Question Id : 70819114011 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D S H T 95 F U 39 F Feman T g1 R fewm ¥ e g, v 99 I Ao
LR R

A

Options :

70819146503.

70819146504.

70819146505.

70819146506.

Question Number : 75 Question Id : 70819114012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819146507.

70819146508.

708191465009.

70819146510.

Question Number : 75 Question Id : 70819114012 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Options :

70819146507.

70819146508.

708191465009.

70819146510.

Question Number : 76 Question Id : 70819114013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819146511.

70819146512.

70819146513.

70819146514.

Question Number : 76 Question Id : 70819114013 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3D T T T F U GV HI T T | THH W S g9, I A | Y T |

Options :

70819146511.



70819146512.

70819146513.

70819146514.

Question Number : 77 Question Id : 70819114014 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819146515.

70819146516.



=

70819146517.

=

70819146518.

Question Number : 77 Question Id : 70819114014 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3D T H U 7 F U 0 I foar T § | T e S 5%, S AFH § § v

Options:
70819146515.
70819146516.

70819146517.



=

70819146518.

Question Number : 78 Question Id : 70819114015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}-' the buﬂding compositions of having less visual tension amongst the fo[lowing figurcs.

(A) (B)
(©) (D)
Options :

70819146519, () and (B)

(B) and (C)
70819146520.

70819146521, (©) and (D)

70819146522, (D) and (A)

Question Number : 78 Question Id : 70819114015 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



= <1 S A § 9 gfe-HeEH 9 799 & 999 92 H e |

(A) (B)

(©) (D)

Options :

70819146519, (&) T (B)

70819146520. B oG

~

70819146521. Srad)

70819146522, (©) S (A)

Question Number : 79 Question Id : 70819114016 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problom f igure shows the top view of an ohjoct. Idontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

Options :

70819146523.

70819146524.



70819146525. |_ |_| |_|

70819146526.

Question Number : 79 Question Id : 70819114016 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T I | T 6 F S0 99 F @ TR | R e H e gv, 3w At § ¥

T‘flﬁ‘\?ﬁ (elevation) ) TR |

Options:

70819146523.

70819146524.

70819146525. |_ |_| |_|

70819146526.



Question Number : 80 Question Id : 70819114017 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlom f igure shows the top view of an ohjoct. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819146527.

70819146528.

2 2 4

70819146529.



70819146530.

Question Number : 80 Question Id : 70819114017 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T S & U T o S v ) fommen T g Ao fem § S gu, SwW s § ¥ @

TEAYH (elevation) F1 T2 |

[
\

Options :

70819146527.

70819146528.

70819146529.



70819146530.

Drawing
SectionId: 708191495
Section Number : 4
Section type: Offline
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191775
Question Shuffling Allowed : No

Question Number : 81 Question Id : 70819114018 Question Type : SUBJECTIVE

Correct Marks : 50



Draw a proportionate skelch of given reference image by using any black and white rendering
tedquues of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 81 Question Id : 70819114018 Question Type : SUBJECTIVE

Correct Marks : 50

AU THE F T o =i U e T aAE F1 S F 4 9 # U S W
|

o
1 S Bfa 1 oHFHT Bk A TS F FH § Hgfe T TAR | =i U wI5e LSI0T qehE
1 WA |




Question Number : 82 Question Id : 70819114019 Question Type : SUBJECTIVE
Correct Marks : 50

Draw a scene of a Kite festival by using colors.

OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOIDB:SIZE5 cmx2 cmx 2 cm, 4 Nos.
Use “Cool Colorscheme” for composition.

Question Number : 82 Question Id : 70819114019 Question Type : SUBJECTIVE

Correct Marks : 50

i 1 SYANT T TG Scdd 1 599 F15Y |

areran

= {58 T3 T YR & TGH] F STAM FF U GHaA o9 GarcHE L9 F41Ed |
(i) EATY A : 2 THL x 2 WAL x2 AL &A1 - 5

(i) A B : 5 HHL x2 WAL x 2 HH, qE&A - 4



